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DNA Computing Notes

Things can only get shorter.. If a primer extension yields a strand shorter than the original, then the offspring of it will be shorter as well. 
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If you apply m to this vector it takes it into itself and magnifies it. l = 2, in this case.

How do you know the primers won't stick somewhere else?

By using synthetic DNA. By using the same equipment that researchers use for lifeform DNA, arbitrarily sequenced synthetic DNA can be created. The human genome is a minute fraction of possible strand encodings. 

Sequences that aren't completely complementary may only stick 50% of the time.. This corresponds to a branch in a computer program. 

A sequence of length 20 has 420 = 240 or about a quadrillion possible values.

An unanswered question: What happens if a couple of strands get a head start and run away from everybody else?

Do simulations of shorter examples.

Evolution.. Replicator equations have been studied since early part of last century.

It is a convergent process.

What are the possible answers for the current cycle?

What will happen during the next cycle?


--AA-->
--AT-->
--TA-->
--TT-->

<--AA--
2
1
1
0

<--AT--
1
2
0
1

<--TA--
1
0
2
1

<--TT--
0
1
1
2

The matrix is symmetric because the graph is not directed.

The strands combinations with ones are going to replicate and the ones with zeroes will not because they have no compatibility.

